1. 100x602 Ak iUk [ |¢te] duke 25 A2

PO Q.

100 x 60= ?cm

1x6=[@))

v V. v V¥
0
o o
(=)

0
AL
o




of 2

00km & 7H= AHE2H7F A5 Ut

o] A=}t 10 A7

200 x 10 = 2000 (km)




326

50
L 1o

X

1630

ul
KO

.{

>

326

X 50
16300




& % WAle] Bol % A 491 AL ol AA] TS

D) 345 + 32 @ 597+ 62 ® 288 +29

@ 423 = 45 ® 379 +41

5 A4 o} e 0] 2718 HlE

iy
I
2
>
r
Y
Lo
Ho,
1

wretd o] = Z}ﬂ¢7} i e @oltt,




5.

456600 &] ALt A HEEA Sol2 A2 ol AYU7R

@ 05 7HE W& © 6x6 & AAet
© 4x6 = AAMGE @ 5x6 = AAGC

@086 ©6,060 00,606
0000 0606600

A AL G us Fohs S0k B S8 2315l Fiol
AArstch E351 o] 9 5
wkebd BHE A 4




6.

ogtell >, =, <& g9 AL oA Q.

225 x 60 O 341 x 40

i

vV V
0x
o
A

225 x 60 = 13500
341 x 40 = 13640




ol wd 572m 4 7|
£ EE R mdA T L

=¥ -
HE 11440m

Ut

8]

o

17} 20

Qo]
=

off

o

2
il




36720

765

6120
3060
36720




13632

426

852
1278
13632




dl
K

13137

‘ 453 x 29 = 13137

b

al




11. A4AT vk #2]o]

A

—

Z2 o] ZIQ1Z] A2 A Q.

D 273X 36 *(3 11430
@ 187X 54 «®© 10098
(3 635%x18e «®© 9828

® O3, -0, 3-®
® 00, -0, -®
®ae, 20,66

B

@ 0-9, @6, ®-0
@ ©-6, @-0,®-0

@ 273 x 36
@ 187 x 54
® 635x18

@D 273 x 36 = 9828
@ 187 x 54 = 10098
@ 635 x 18 = 11430

@ 11430
© 10098
© 9828

R




12. [ [oto] ggre 5 A2 2 AL o= AYY7L?

@® 3164, 2116, 5280 @ 3164, 21160 , 24324

® 3174, 2116, 5290

@ 3174, 2116 , 24334
@3174 , 21160 , 24334

~&B

FoHe +8 99 A2l A9 A2 hreo] F

il— —-—'6-—,
Ayzle] F3t Ae) A2e] F& viste] e,
529
X 46
3174
2116

24334

Q]

=2

91




Fol 2 ARE A2 /|58 £ AL ol AYUA

@ 350 +50 © 180+30

© 240 +60 @ 320 +40

06,860 @660 0600®e
® 0600 (eaq.oe

97,06 064,68
=2©®>0>0>06




14. o= WeAle] ol 71 A2 e alzAe.

@ 180 + 20 © 490 + 70
® 270 + 90 ® 240 + 30
> =

> e ©

99,017,603 63

®<b<®<0O




[m?'%% ]7]- =

A

0715 gt EA]of 30 |4 o] &
A FEFA L.,

60 +30 =2
Jd B2 22 2]AdYth




€ 7oA.

A 2 7

@80 + 20

©240 + 60

-

ul

B

@80+20=14

© 240 +60=4
4-4=0




17. o2 5 WieAle] ol 7 2 AT 7P 22 A 9] AkE LehA] 2.
@ 400 = 50 © 180 = 60
© 270 = 30 @ 360 = 90
> E:
[> Heh: 6

B

@ 400 +50 =8
© 180+ 60 =3
®270+30=9
@ 360 +90 =4

et

a9 8R Fo| /b 2 4k 0, 7

£l

ﬂd
12
il
>
rir




18. g % %ol 5 A4 4 AL ol AU

@ 254+ 30 @ 873+ 90 ® 508 + 60
@)319+20 ® 625+ 70

B

D254+30=8---14
@873+90=19---63
® 508 + 60 = 8---28
@319+20=15---19
®625+70=8---65




19.

UuAs} 2 ARE AR 752 U 2 AL ofu AU

@ 502 +60 © 485 +70

© 168 +90 ® 348 +50

® 0eed @ ©e0ae @ 0eeoo
@ ceeo BGeoces

B

@ 502 +60=8---22
© 485+70=6---65
®168+90=1---78
® 348 +50 =6---48




20. TS Aol ol &AUE MY oA QL (oA RE ol R 2
A1)

12)95 = 12

D‘D\"D

iy

i

0
it

. 84

v VvV VvV.v. vy
0
iy

02
L
—_
—

12)95 = 12




2.

S

<]
o

A3




48

ul

-

ul

48,48 12 =14

‘ 816 + 17



23. The LBRAIAO] Fuke AL ol AR AL

841 +57=14---43

© 57+14+43 @ 14 +43+57 @57x14+43

@ 57x43+ 14 ® 57414 %43

X (%) +(HH A=A = )




24.

o FAlIA ERE 22 grop vi2A 1
AL
470
X 60
2820

[ 2
[> ®eh: 28200

#E 19 v e

5t

470 x60 = 28200
Hoke 2 0 = W 24] gttt




25. ol A4S 2602 ths W, L} 4 e Uil B B 1A
o]-/\]

=i 7h

>
> "t 257

U2 & e UHAE 268 &2 AAFolBE,
1, 2,3, ---, 24, 25 Yt}
L Uri T A= UYWA= 25 7Y T




